BIG TWIN HIGH PERFORMANCE

A/C ASSEMBLY

REQUIRES:

1/4" 12 Point Wrench
3/8" 12 Point Wrench
3/16" Allen Wrench

IMPORTANT: A/C assembly will not run properly
without remapping the E.F.l. system

NOTE: Use BLUE LOCTITE on all hardware

MACHINE

090525D 11/14/2011

INSTALLATION
1. Completely remove stock air cleaner assembly.

2. Secure the loose pigtail with a zip-tie to the throttle
postion switch wiring harness.

3. Installed the a/c back plate & vent plates with the
breather bolts.
Do not fully tighten the breather bolts

4. Install the (3) 1/4-20 Allen screws using blue Loctite
to the throttle body with the stock a/c gasket.

5. Tighten the breather bolts

6. Install the outer cover, K&N filter, and stand-off with
the 1/4-20 12 point bolt using blue Loctite.

3) 1/47-20 X 5/8" SOCKET SCREWS

|__— 3/8"S.AE. WASHER

[} BIG TWIN A/C STAND-OFF

] }— BIG TWIN A/C BACK PLATE

=TTl — BIGTWIN A/C VENT PLATE

K&N FILTER P.N. E-3120
(4" DIA. X 2" THICK)

AIC COVER STAND-OFF ——

-+—— BREATHER BOLT 3/8-24 X 2-1/2"

o

m

OUTTER A/C COVER %_2
1/4-20 X 2-1/2 SCREW

www jokermachine.com, sales@jokermachine.com



